Farbmetrische Transformation i = 2
¢t =c; =ac® mita=1,00;b=0,50
rgb —> olv* olv*—> olv*2




Farbmetrische Transformation i = 2
¢t =c; =ac® mita=1,00;b=0,50
rgb —> olv* olv*—> olv*2




Farbmetrische Transformation i = 2
¢t =c; =ac® mita=1,00;b=0,50
rgb —> olv* olv*—> olv*2




Farbmetrische Transformation i = 2
cr =cf =ac*® mita=1,00;b=0,50
rgb —> olv* olv*—> olv*2




Farbmetrische Transformation i = 2
¢t =c; =ac® mita=1,00;b=0,50
rgb —> olv* olv*—> olv*2




Farbmetrische Transformation i = 2
¢t =c; =ac® mita=1,00;b=0,50
rgb —> olv* olv*—> olv*2




Farbmetrische Transformation i = 2
¢t =c; =ac® mita=1,00;b=0,50
rgb —> olv* olv*—> olv*2




Farbmetrische Transformation i = 2
¢t =c; =ac® mita=1,00;b=0,50
rgb —> olv* olv*—> olv*2




Farbmetrische Transformation i = 2
¢t =c; =ac® mita=1,00;b=0,50
rgb —> olv* olv*—> olv*2




Farbmetrische Transformation i = 2
¢t =c; =ac® mita=1,00;b=0,50
rgb —> olv* olv*—> olv*2




Farbmetrische Transformation i = 2
cr =cf =ac*® mita=1,00;b=0,50
rgb —> olv* olv*—> olv*2

c00b=g50k




Farbmetrische Transformation i = 2
¢t =c; =ac® mita=1,00;b=0,50
rgb —> olv* olv*—> olv*2

c50b=g75k




Farbmetrische Transformation i = 2
¢t =c; =ac® mita=1,00;b=0,50
rgb —> olv* olv*—> olv*2




Farbmetrische Transformation i = 2
¢t =c; =ac® mita=1,00;b=0,50
rgb —> olv* olv*—> olv*2




Farbmetrische Transformation i = 2
¢t =c; =ac® mita=1,00;b=0,50
rgb —> olv* olv*—> olv*2




Farbmetrische Transformationi = 2
¢t =c; =ac® mita=1,00;b=0,50
rgb —> olv* olv*—> olv*2




